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Geliszd 639,508,808 552,159,655 87,349,153
= 369,728,485
Xl 14,808,000
J| 26,159,155
< 228,813,168
Hylisz 2 639,508,808 552,159,655 87,349,153
= 369,728,485
Xl 14,808,000
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40 5 4

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
EENEsXdE 55,000 70,000 A 15,000
307 gl2tol & 30,000 45,000 A 15,000
03 BIAHMNHE2IHIEL 30,000 30,000 0
OZdEMgds 23 H XA 30,000
308 XXM SO0l A 25,000 25,000 0
01 IXNHHBNEES 25,000 25,000 0
O=2HUMd 25,000
LYHBSF2IEAY 40,000 50,000 210,000
307 21201 A 40,000 50,000 A 10,000
11T MISXASEEX 40,000 50,000 A 10,000
DedEsSFUHIELESAY 40,000
Eusgads 37,000 37,000 0
307 21201 A 37,000 37,000 0
11T ALS S XA E X 37,000 37,000 0
O8N IELS XA 7,000
O&8eM=xHun=zX & 30,000
g@3A5N 4,801,398 4,551,756 249,642
= 205,835
J| 3,001,632
< 1,593,931
RS N S, 11,000 11,000 0
201 Let2d] 11,000 11,000 0
01 At 22l 9,000 9,000 0
O W=l 9,000
OXEEZSUY WK (AOIH) 9,000
03 &Ar2 I 2,000 2,000 0
OB (TE) 2,000
SOHOHIH KA S L AN ARS 358,056 350,867 7,189
J| 305,647
< 52,409
308 XtXIEHHSOIA 358,056 350,867 7,189
J| 305,647
= 52,409
01 HXNHHBHELS 358,056 350,867 7,189
S OHOH T oH At X A 2 S X & 258,624
J| 229,161
< 29,463
M0 OoHaEA2E XA 99,432
J| 76,486
< 22,946
& OHOH IJ oHf Rk 2 = XI & 29,343 29,343 0




NS L S IENCEEBIES EE
B o4 EE N
ool RS CER-ED
- _ RE]
SoSA-EESY(EH) - NEAY - B Ol At o %Eﬁ HR=2
Pl 26,000
== 3,343
308 XHXIEH SO0l A 29,343 29,343 0
J| 26,000
= 3,343
01 AIKSHHEMNEX= 29,343 29,343 0
[JA& 00N Il ol Kt 2= K& 29,343
J| 26,000
o= 3,343
SO Z XS &I s2 st 79,718 78,879 839
J| 64,222
& 15,496
308 MXISHMSOIA 79,718 78,879 839
J| 64,222
& 15,496
01 IXHHIMNEEXTZ 79,718 78,879 839
XN ZXNSHI)sLSAIE 2HH| 54,889
J| 42,222
= 12,667
OASHHEZ XS A s2 e X &b 24,829
J| 22,000
== 2,829
SOHOHIIGH AR RAI DI sE22 33,249 0 33,249
J| 25,576
= 7,673
403 XX S M S X201 A 33,249 0 33,249
J| 25,576
& 7,673
01 MXHHNE2BE = 33,249 0 33,249
CJSOH0HIIoH KERI A E D sE2 33,249
J| 25,576
= 7,673
=023 54,000 54,000 0
307 212t0| & 54,000 54,000 0
04 SIZ2SHAMAISHE E X 4,500 4,500 0
OJ)¥ZEp e d(2etdol) X 4,500
11T AISIEXAIEEX 49,500 49,500 0
OHEZLABEAESANES=NS 13,500
OZA0gSASHAHAL DS 6.000
Jolzadssosadszdy 30,000
HE=ZHT N ESKH 122,600 99, 100 23,500
307 212t0| & 112,100 88,600 23,500
11T A EXAIEEX 112,100 88,600 23,500
Od2283H1362 S HHH 2SI XA 62,648




=k A OEET

el

= _ - 4 &
SERE L RE-ERY=E1C PRy EVI-RE-EL 0f o e HI D52
OZzeol2odadells2at 49,452
308 XXM SO0I& 10,500 10,500 0
01 UXESHHBAEES 10,500 10,500 0
O2sild™Edg 10,500
NS5 2BANESANSEAE 130,080 114,576 15,504
307 212tol & 94,080 87,360 6,720
AR S XA E X 94,080 87,360 6,720
O0EZA2HANEBANTLFE(T) 94,080
308 XXM SO0l ™ 36,000 27,216 8,784
01 XM BaE2ES 36,000 27,216 8,784
Ood=AA2AANLBAMNSE (AZ) 36,000
ofbtetIdH 2 S K& 1,163,570 1,229,860 266,290
Jl 814,499
S 349,071
307 212t0l & 1,163,570 1,229,860 266,290
Jl 814,499
CS 349,071
10 M SXNANEEE2SHES 1,163,570 1,229,860 266,290
OZ=SRdtaIde2S X2 297,857
Il 208,500
S 89,357
OZssRdibietII e 29 X & 588,867
Jl 412,207
= 176,660
OZ=sMRaH2IIdEe 2SR 2 276,846
Il 193,792
S 83,054
HSEAN N NS S AL ESHERHHISX S 62,350 1,000 61,350
2l 56,110
S 6,240
307 212t0l & 61,750 0 61,750
Jl 55,510
£ 6,240
AR S XA E X 61,750 0 61,750
D=2ttt e T A X2 S U S X2 7,000
Jl 4,900
= 2,100
OF3=sFaitet e T A X3 F U SH X
SSHANHIAXE 47,450
Jl 45,500
= 1,950
OF=AFoptetl e T A X2 F Bl S X2 7,300
Jl 5,110
S 2,190
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AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2
308 XXM SO0 A 600 1,000 A 400
| 600
01 AXNSGHBLEES 600 1,000 A 400
Od=ZdT0ai=s==s0EXA 600
| 600
SZATNANESAESG X2 (XHA) 25,164 0 25,164
307 glz2+ol & 25,164 0 25,164
10 ALSISXAIEEE2GH EX 25,164 0 25,164
OOSEALAERXMNEEH2 I ALY 25,164
S=ZHNNANESANE2I A 368,283 344,046 24,237
| 231,832
= 136,451
307 21201 A 368,283 344,046 24,237
| 231,832
< 136,451
10 AL SXAIEEE2IHEX 363,283 324,046 39,237
OJ0tsEAERAMEHS I AL 265,354
| 165,156
< 100,198
O3Ud=2S X 97,929
J| 61,676
< 36,253
11T M3 SXASEEX 5,000 20,000 215,000
OHZAESALEATNEXNES 5,000
| 5,000
dEZENHAXSISEI2 IS (%) 14,286 14,286 0
| 10,000
< 4,286
307 glz2tol & 14,286 14,286 0
J| 10,000
< 4,286
11 AISI S XA E = 14,286 14,286 0
OdZEINNXNESISEZIHRA(L) 14,286
| 10,000
< 4,286
SdZHENNAXN SIS ZIZ2 I (AD) 52,365 52,365 0
| 46,400
= 5,965
308 XXM S0l A 52,365 52,365 0
| 46,400
= 5,965
01 IXNHHBANEES 52,365 52,365 0
Jd=ZFIHAXNZSEZ2IH2HE 52,365
| 46,400




AT HENEEHB S IENCEEBIES EE
EELENVIEBIE L
S HERAUSH EERED
= — — L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
| < 5,965
HdE=HOHAESANEISES 6,100 21,800 A 15,700
J| 3,050
< 3,050
402 2I2H X201 M 6,100 21,800 A 15,700
J| 3,050
< 3,050
02 QI E2AISEZ (OIS ) 6,100 21,800 A 15,700
CJolibtetdI eI IsE2 6,100
J| 3,050
< 3,050
HdEZFAHLA2IIR 442,790 418,609 24,181
J| 371,143
< 71,647
308 XXM SO0 A 442,790 418,609 24,181
J| 371,143
< 71,647
01 IXNSHHBNEES 442,790 418,609 24,181
8= a4gaz2dR 304,330
Jl| 264,635
< 39,695
O AGARAXA 138,460
J| 106,508
< 31,952
AEZSTIcH A2 HI2HEHI X2 47,597 47,778 A 181
J| 42,175
< 5,422
308 XX EHSOIA 47,597 47,778 A 181
J| 42,175
< 5,422
01 IXNSHHBNEES 47,597 47,778 A 181
O8d=d0ci A2 H K& 46,469
J| 41,175
< 5,294
Od=ZST o A2t EHI X2 1,128
J| 1,000
< 128
Ot &= 30,100 36, 100 6,000
307 gl2tol & 30,100 36,100 A 6,000
1 ASISXAS R F 30,100 36, 100 26,000
ORXNNEHMAZ RS X 6,100
OotsdZ4 X205 K& 24,000
HEZHIN NG NENESEIZOHE2 S 60,595 60,595 0
J| 53,692
< 6,903
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- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

308 X EHSOIA 60,595 60,595 0
J| 53,692
< 6,903

01 HIXNHHBHNEELES 60,595 60,595 0
O =2 AHNIEN e T2 IH2E 60,595
J| 53,692
< 6,903

dEZIHAnNINSEZZ2OH2Y 40,132 40,132 0
J| 35,560
< 4,572

308 XXM SO A 40,132 40,132 0
J| 35,560
< 4,572

01 AXHHBILEES 40,132 40,132 0
ODdZSEiMHnENSEIZ2IH2S 40,132
J| 35,560
< 4,572

HE2SHSH3HE 2SN 506,230 455,661 50,569
J| 238,115
< 268,115

307 21201 A 506,230 455,661 50,569
J| 238,115
< 268,115

10 AL SXNAIEEE2EHEX 506,230 455,661 50,569
O 28313662 Z A& 506,230
J| 238,115
< 268,115

HEZSHABANLSAAELDNE(Z) 2,880 2,880 0
J| 1,440
< 1,440

307 BI20| & 2.880 2,880 0
9] 1,440
< 1,440

11T M Z2XAISE EX 2,880 2,880 0
OWEZH2HANELS AL 2,880
J| 1,440
< 1,440

HAZABAALBANELDS (A 2) 10,101 10, 195 94
J| 8,560
< 1,541

308 XtXIEHH SO0l A 10,101 10,195 A94
J| 8,560
< 1,541

01 AXHHBIYEES 10,101 10,195 A94
OHE=H2AAANESANLS 10,101
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40 5 4

CEEEESE (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2

Pl 8,560
& 1,541

ZHANHHEAFTAKNES2IEASE 34,720 31,119 3,601
J| 25,297
= 9,423

307 2Iz2t0| A 31,410 31,119 291
J| 21,987
o 9,423

11T A EXAIEEX 31,410 31,119 291
OZSNHHEZ=THRNRANG2AI XA 31,410
J| 21,987
=} 9,423

402 SI2F 20| & 3,310 0 3,310
J| 3,310

02 CIZEXIE A E X (0| &M THS) 3,310 0 3,310
OO0l EF=HRE AL 3,310
J| 3,310

HAE228S3BHHSE XN sBEL 8,000 8,000 0]
J| 4,000
o= 4,000

402 SI2vXHE0| ™ 8,000 8,000 0
Jl 4,000
=} 4,000

02 BIZEXI2AMYEX(0IETH 8,000 8,000 0
[J1366HIE DI sE X 8,000
9] 4,000
& 4,000

NEZATNNESAES2A RN (AlZ) 197,800 178,929 18,871
J| 177,544
= 20,256

308 XHXIEHSOIA 197,800 178,929 18,871
J| 177,544
= 20,256

01 AIKISHHEMNEXZ 197,800 178,929 18,871
OJIEZ2ENHNHESAER2IE A 173,850
J| 154,044
o= 19,806

OJIBZENHANESAIEUATSH =2 XA A

gl X & 20,000
J| 20,000
[RPIESE=a=NIlk PUESEe RNl | 3,950
J| 3,500
& 450

Y BN RS ST 2O (HE) 10,000 0 10,000
J| 7,000
& 3,000
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AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

307 glz2tol & 10,000 0 10,000
J| 7,000
< 3,000

11T M SXASE EX 10,000 0 10,000
ONEZSTNNAZHRE(Z) 10,000
J| 7,000
< 3,000

NEEAWH NI SIS T2 (X Y) 61,427 67,714 16,287
J| 54,429
< 6,998

308 XXM SO A 61,427 67,714 NB,287
J| 54,429
< 6,998

01 AXHHBILEES 61,427 67,714 A6,287
OXEZEIiAXS=SEI2IH2EXA 33,857
J| 30,000
< 3,857
OJtE=dToi A2 28 A& 27,570
J| 24,429
< 3,141

FHEANTASHN 459,242 406,590 52,652
J| 399,341
< 59,901

308 XXM SOl A 459,242 406,590 52,652
J| 399,341
= 59,901

01 IXNHHBNEES 459,242 406,590 52,652
OHE 28484023 XNE 381,377
J| 331,632
< 49,745
ODSgaega23 XA 77,865
J| 67,709
< 10,156

tMEZOAHRA 28,760 31,520 AN2,760
= 14,380
S 14,380

307 glz2tol & 28,760 31,520 22,760
= 14,380
< 14,380

11T M SXAIS EX 28,760 31,520 N2,760
JotMoz)#2dy 28,760
= 14,380
= 14,380

OlsSOHEERAANRE(Z) 7,000 7,240 A 240
= 3,500
< 3,500
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CPERE (2ol @2)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
307 glz2tol & 7,000 7,240 A 240
= 3,500
< 3,500
11T M SXASE EX 7,000 7,240 A 240
OOsSHYEAEXNAAUNR2E(Z) 7,000
= 3,500
< 3,500
OlSHEAEXAAURY (AZ) 104,650 108,238 A 3,588
= 80,500
< 24,150
308 XXM SO A 104,650 108,238 A 3,588
= 80,500
< 24,150
01 IXNSHHBANEES 104,650 108,238 A 3,588
OOtsHE M AAH2 L (AZ) 104,650
= 80,500
< 24,150
Ots +™ XI & HI & 27,300 37,192 29,892
= 21,000
< 6,300
308 XtXIEHH SOl A 27,300 37,192 A9,892
= 21,000
< 6,300
01 HXNHHNBHEELS 27,300 37,192 A9,892
Ot ™ Xl &= Hl & 27,300
= 21,000
< 6,300
=HOXNINHA2SXR 36,000 36,000 0
308 XX EHSOIA 36,000 36,000 0
01 HIXNHHNBNEELS 36,000 36,000 0
O=bI0XNFAEAREIA 36,000
QOIS HLI MEH XA 3,000 3,000 0
308 XXM SOl A 3,000 3,000 0
01 IXNHHBAMNEES 3,000 3,000 0
LROHEHLIMECHE S 3,000
StullMdd @ us 29,000 32,000 A 3,000
= 14,500
< 14,500
307 21201 A 29,000 32,000 A 3,000
= 14,500
< 14,500
11T AL SXAIEE = 29,000 32,000 A 3,000
OstnMddoANE 29,000
= 14,500




NE RN -BIEF L SN HENERB
MR HAIIEH
Sl ogAYSH (e9: & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2

| < 14,500

FHOtsELAELRHA NS 40,000 20,000 20,000
= 20,000
< 20,000

307 gl2tol & 40,000 20,000 20,000
= 20,000
< 20,000

11T M SXASE EX 40,000 20,000 20,000
OXFOMoOtsEAELHAHAD=F 40,000
= 20,000
< 20,000

ROPI=ZAULDSNAXNAI 22 Y 103,910 103,992 £82
= 51,955
< 51,955

307 glz2tol & 103,910 103,992 A82
= 51,955
< 51,955

11T MISXASEX 103,910 103,992 A82
OZdgdusSIg9Xali22gy 103,910
= 51,955
< 51,955

AL INE2S TS 17,605,248 16,898,236 707,012
= 8,682,760
J| 5,787,973
< 3,134,515

IS A 332,328 218,751 113,577
= 255,638
= 76,690

308 MtXIEHSOIH 332,328 218,751 113,577
= 255,638
< 76,690

01 X HHBLEES 332,328 218,751 113,577
OF LIt E XA 332,328
= 255,638
< 76,690

OIS E XA (Z) 172,778 138,857 33,921
= 120,945
< 51,833

307 gl2tol & 172,778 138,857 33,921
= 120,945
< 51,833

11T M XA EX 172,778 138,857 33,921
OO0 SES N AMLZANEIN2A2S XS 172,778
= 120,945
< 51,833

OtOlES = Xl & At (Al ) 9,374,113 8,353,460 1,020,653
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ool AYBINSSIEL CER-ED
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A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 8,306,177
=) 1,067,936
308 XX EHHSOIA 9,374,113 8,353,460 1,020,653
= 8,306,177
=) 1,067,936
01 HIXNHHBNEES 9,374,113 8,353,460 1,020,653
dotolss X & 9,374,113
= 8,306,177
< 1,067,936
ALNEELEXE 42,000 42,000 0
307 21201 A 12,000 12,000 0
11T M SRASEX 12,000 12,000 0
Ozt ostuoleg 12,000
308 A EHHSOIA 30,000 30,000 0
01 HIXNHHBHELS 30,000 30,000 0
OJtE LI E A 30,000
SS=E0USHEH=2Z 189,600 94,800 94,800
J| 168,000
= 21,600
308 XX EHHSOIA 189,600 94,800 94,800
J| 168,000
< 21,600
01 HIXNHHBNEES 189,600 94,800 94,800
Es=s0tL=sH=2E 189,600
l 168,000
< 21,600
AL E L2 EXNFAEH=2 Y 1,583,788 1,944,347 A 360,559
J| 1,218,300
< 365,488
308 XtXIEHH SOl A 1,583,788 1,944,347 A 360,559
J| 1,218,300
< 365,488
01 X HHILEES 1,583,788 1,944,347 360,559
OAZNEUESANESXNKFLHHES MBI AT R 1,336,204
J| 1,027,850
< 308,354
OHALNE XA HEH X 247,584
J| 190,450
< 57,134
SHIRERNENEHESHISAA 4,541,875 4,291,572 250,303
J| 4,225,000
< 316,875
308 XXIEHH SOl A 4,541,875 4,291,572 250,303
J| 4,225,000
< 316,875




CREPIEEE" g 2
DA IIEA
D AYEIIEREY )
22N B SA(HN) - NRAY - BYS Ol &t o il 2
01 HIXNHHNBHNEES 4,541,875 4,291, 250,303
OsR2NEHEHL=SH SR 4,541,875
J| 4,225,000
< 316,875
SHE QIS XA (XHA) 796,047 792, 3,333
307 glz2+ol & 38,000 30, 8,000
11T MISRASER 38,000 30, 8,000
OetR2=ELNEsN2d 38,000
308 MtXIEHSOIH 758,047 762, A4,667
01 AXSHBELS 758,047 762, A4,667
OetR2HEXNEXE S 72,000
OetR20FESH = I 342,000
Ost2 2t =X2 (XA 344,047
StREEINIESXNANEL AL EXNE NS 33,369 33, A
J| 25,669
< 7,700
308 AHXIEHHSOIA 33,369 33, A
J| 25,669
< 7,700
01 AXNSGHBLAEES 33,369 33, A
OstR2NESNALLANLEEINZ XA 33,369
J| 25,669
< 7,700
SSHEIIEEF=HIA 37,000 33, 3,400
J| 37,000
308 XXM SOIA 37,000 33, 3,400
J| 37,000
01 IXNHHBNEES 37,000 33, 3,400
OSsENEENLEUH=AHAXNA 37,000
J| 37,000
SHRERIES XA E X2 (XA 369,895 364,065 5,830
201 LEr2 Y| 5,830 5,830
01 AP 2teltl 5,830 5,830
O2dsg 5,830
OMBSXNALSEEINA=Z R0 5,830
307 21201 A 13,500 13, 0
11T MISRASEX 13,500 13, 0
OR2NHEINALLANLSAMNRAIDS 13,500
308 A EHHSOIA 350,565 350, 0
01 HXNHHBHEELS 350,565 350, 0
Ost2LNE=TNANEESMAE 10,080




AT I CREBIETE
EELENVIEBIE L
Chel: HYSINEEIEL (&)
= - L=
A 24" BEA) - HRA il HlnE2
OstE2NESTAIEX & (RHA) 340,485
AU 2L NHEX 75,250 52,014 23,236
| 70,000
= 5,250
308 XXM SOIA 75,250 52,014 23,236
| 70,000
= 5,250
01 IXNHHBANEES 75,250 52,014 23,236
OE32Ee 22108 75,250
| 70,000
< 5,250
HAE0=2LFNHE I 2 32,500 32,500 0
J| 25,000
= 7,500
308 XX EHHSOIA 32,500 32,500 0
| 25,000
= 7,500
01 AXSGHBLELS 32,500 32,500 0
OGS0 ELLRRA 32,500
| 25,000
< 7,500
SIRRINEENAEIISE 24,705 0 24,705
| 19,004
= 5,701
403 XSS A=0l& 24,705 0 24,705
| 19,004
= 5,701
01 X SHMA2E X 24,705 0 24,705
Ost2LHE=KAl 24,705
J| 19,004
= 5,701
EotE M 7,728,722 7,146,162 582,560
| 4,506,899
< 3,221,823
HAEUZSAEI =S 7,728,722 7,146,162 582,560
| 4,506,899
< 3,221,823
23S X2 (XA 1,935,932 2,243,568 A 307,636
201 L2l 38,000 38,000 0
01 At 22l 38,000 38,000 0
O3l 31,000
OUZINEXN2ANZT RO LSH= W T &2t 17,000
O3 MEOHH IOl E M & 14,000
O2ds=g 7,000




AERNCEBIES-E R SN OENETHB
M =2 H
el ALB T2 SAIS Z A (B9 ®R)
AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
OUESINEFXNEAIILIN Yo ELARA
=y 7,000
202 04 d| 36,000 36,000 0
01 2L Y] 36,000 36,000 0
OCE2SIEXNJERF=E 0 HI 36,000
203 =&l 9,000 8,600 400
03 Al ZHF=XH R = XIH| 9,000 8,600 400
OGUSsIIEX 2SS =R 9,000
307 212t0| & 845,000 1,620,000 AT75,000
1A S X AIE E X 845,000 1,620,000 AT775,000
OBM=EEUOESSHEXNJEHXHA 155,000
OC&stsAaagsid )32 100,000
G2 st A A ALCHR BE 2] Hl & 20,000
OoaassxEo st 40,000
OUEsIisUetAMNE DR 10,000
OCtE SO THAI Al &= & 70,000
OCIE3otES0S2 S X 2 8 AFS X & 50,000
OCESERSANEHUSRITS 30,000
OCEZstot=E e At 240,000
OZRS08HAHSHH DAL K2 &S ALY (2
2l) 130,000
308 XX SHHSOIH 1,007,932 540,968 466,964
01 AXHNBMNEXZ 1,007,932 540,968 466,964
OJZ20/0HAH0SAHHLAIL Rl E ALY 459,120
gaaspisssdesd 128,000
OUSSIIE=SNAIESAMANSE 81,312
OG2si=s=2s2s XA 19,500
OCssits=2e8soty 100,000
OZ=0l2d ==X 24,000
OCessisssdtszs JdHI XA 110,000
OCt=3t0loll & 80,000
OCEstotrsnsHot=2010 3 6,000
ZANHOIFTHEESAESIXNSE 242,128 238,178 3,950
J| 214,544
o= 27,584
308 XX SHHSOIH 242,128 238,178 3,950
J| 214,544
o= 27,584
01 AIXSHMENMNEXZ 242,128 238,178 3,950
OZE0oi0IF=HEESANESE X 242,128
Dl 214,544
= 27,584




NS L S IENCEEBIES-EE,
HE: 2y
Ee: AASIURAI = A (2 &HH)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
RIS UR2UNSAE 2 (XHA) 63,900 65,700 A 1,800
308 XAHXIEHSOIA 63,900 65,700 A 1,800
01 AIXSHMENEX= 63,900 65,700 A 1,800
OUSSIIISU2 RN A2 SAE 63,900
CI2sIIIEXNMEHSH 1,554,607 1,244,446 310, 161
9] 1,184,758
& 369,849
308 XHXIGHH SO0l & 1,554,607 1,244,446 310, 161
9] 1,184,758
& 369,849
01 AIKSHHEMNEXZ 1,554,607 1,244, 446 310, 161
OU2sItsXMgH2S 1,554,607
J| 1,184,758
o= 369,849
NEHSSLTNEHMESU2ONAEH AKX 1,995,066 1,960, 345 34,721
J| 1,767,780
=} 227,286
308 MXISHMSOIA 1,995,066 1,960, 345 34,721
J| 1,767,780
= 227,286
01 XHHIMNEEXTZ 1,995,066 1,960, 345 34,721
OXNELLNEHMESSUESWAEAXE 1,995,066
J| 1,767,780
& 227,286
CIE3tE At 22l X 126,336 121,660 4,676
J| 111,944
& 14,392
308 AKXl €I S 0 & 126,336 121,660 4,676
Jl 111,944
o= 14,392
01 AIXSHMENMNEX= 126,336 121,660 4,676
OGSOt S At 22l X & 126,336
J| 111,944
& 14,392
ZE0IQINSHA ML AKX 423,347 326,719 96,628
J| 375,117
& 48,230
308 XHXIGH SO0l & 423,347 326,719 96,628
J| 375,117
& 48,230
01 IXHHIMNEXS 423,347 326,719 96,628
OZE0|28XNSHAMHI AKX 423,347
Dl 375,117
= 48,230




U

]
]

il
>
[=)
0x
o
I
0%
]
_k;__l

A2 HEIIER & 2
HE: 2y
el ALB T2 SAIS Z A (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
CENEANEHAALS X 483,165 472,385 10,780
J| 428,121
< 55,044
308 AHAIEHHSOIA 483,165 472,385 10,780
J| 428,121
< 55,044
01 HIXNHHNBHELS 483,165 472,385 10,780
OGSNENEHAALE XA 483,165
J| 428,121
< 55,044
OsAIIEsEadxy 76,548 65,728 10,820
J| 67,827
< 8,721
308 XXM SO A 76,548 65,728 10,820
J| 67,827
< 8,721
01 AXHHILEES 76,548 65,728 10,820
OoIsdoiEatdxs 76,548
J| 67,827
< 8,721
SR NE2E 402,693 402,693 0
J| 356,808
< 45,885
308 MtXIEHMSOIH 402,693 402,693 0
J| 356,808
= 45,885
01 HXNHHNBHEELS 402,693 402,693 0
Oe=20uns2d 402,693
J| 356,808
< 45,885
ZEIH0IF=HEESAE N = 425,000 0 425,000
403 Ut SHHSA=0l& 425,000 0 425,000
01 X SHMA2E X 425,000 0 425,000
O=A0oioI=HEESAE L= 425,000
ES0tsHASA 468,715,384 466,568,682 2,146,702
= 285,286,322
=) 183,429,062
SESAHMEIAXE 466,678,964 465,354,112 1,324,852
= 284,255,230
=) 182,423,734
ESHMLAKJ X 4,000 5,000 A 1,000
201 ¢4l 4,000 5,000 A 1,000
01 At 2t 2l 4,000 5,000 A1,000
O=2d=¢ 4,000




M ox
40 5 4

2 A HEEEH
ol
ol
|

el

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2

OE=ZMAZ =L L0 4,000

ESRISRIANY 7,200 6,500 700

201 Lt 7,000 6,000 1,000

01 At 22l 7,000 6,000 1,000
Opt=2Hl 7,000
OESYERSHEEMMES 3,500
OZ3& 00l & SIHH = 3,500

303 &3 200 500 A 300

01 L& = 200 500 A 300
ODESR3ISFEANY 200

Hel ol w2t X& 130,938 93,790 37,148
= 65,469
< 65,469

307 gl2tol & 130,938 93,790 37,148
= 65,469
< 65,469

11T AIS S RAEE = 130,938 93,790 37,148
Ol dndddXa 130,938
= 65,469
< 65,469

SOSSANALMEH2Y(Z) 432,296 501,326 A 69,030
= 216,148
< 216,148

307 glz2+ol & 432,296 501,326 A 69,030
= 216,148
< 216,148

10 ALSISXAIEEE2EHEX 432,296 501,326 269,030
O=S0tSEXNBMEH2SE 432,296
=2 216,148
< 216,148

SIS NALMEH2 G (AlIT) 23,400 26,000 A 2,600
= 18,000
= 5,400

308 XtXIEHH SOl A 23,400 26,000 A 2,600
= 18,000
= 5,400

01 HXNHHMBHELS 23,400 26,000 A 2,600
OANZS0tSEXN2HEH2S 23,400
= 18,000
< 5,400

012/ 01 & CH Ml 2 AFXI & 1,527,946 1,171,922 356,024
= 763,973
= 763,973




A= HEISEH PN HENSERH
HY: BR0ISEUEA
o9l BSMHIAX (e9: & 9)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
307 glz2tol & 1,527,946 1,171,922 356,024
= 763,973
< 763,973
11T M SXASE EX 1,527,946 1,171,922 356,024
IO & Ol & CH Al w AR X & 1,527,946
= 763,973
< 763,973
ESUAHAANHYI XA 50,363,042 42,346,762 8,016,280
= 34,419,666
=) 15,943,376
308 XXM SO A 50,363,042 42,346,762 8,016,280
= 34,419,666
=) 15,943,376
01 AXHHBILEES 50,363,042 42,346,762 8,016,280
O HAACNAHIX & 50,363,042
2 34,419,666
< 15,943,376
EKNAAHR2MA 26,563,507 22,510,739 4,052,768
= 18,287,871
< 8,275,636
308 MtXIEHMSOIH 26,563,507 22,510,739 4,052,768
= 18,287,871
< 8,275,636
01 HXNHHNBHEELS 26,563,507 22,510,739 4,052,768
== IMESEC DS Fal 26,563,507
= 18,287,871
=) 8,275,636
Helold2g X 1,639,972 1,531,197 108,775
= 1,135,111
< 504,861
308 XX EHSOIA 1,639,972 1,531,197 108,775
= 1,135,111
< 504,861
01 HIXNHHBNEES 1,639,972 1,531,197 108,775
OdeolE2E XN 1,639,972
= 1,135,111
< 504,861
dRoEssXNd 213,428,416 209,062,539 4,365,877
= 171,924,000
= 41,504,416
308 XXl &M S0 & 213,428,416 209,062,539 4,365,877
= 171,924,000
= 41,504,416
01 AXHHBIYEES 213,428,416 209,062,539 4,365,877
ggsoteszNd 213,428,416




M ox
40 5 4

CEEBIEF-E 2 A
ER0SHAST
FRAHIAT &

AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2
= 171,924,000
== 41,504,416
Pl pel s R = PNE 65,255,934 74,273,606 N9,017,672
2 52,438,000
= 12,817,934
308 AXISHXMSOIH 65,255,934 74,273,606 N9,017,672
2 52,438,000
= 12,817,934
01 AXHNBMNEXTZ 65,255,934 74,273,606 N9,017,672
Osgs+gnd 65,255,934
= 52,438,000
& 12,817,934
BECHH MG 138,000 143,000 A5,000
307 QI2t01 ™ 98,000 103,000 A5,000
11 A SAAEE X 98,000 103,000 A5,000
OO0l AE 3 e AY 20,000
Oe ol 2ndsHIS 40,000
BENNANSESSAIXNUS XA 14,000
&0 - H&EMHESsEz 15,000
OgodeEsnddA=3 = 9,000
308 XX SHHSOIA 40,000 40,000 0
01 AIXHMBAEXZ 40,000 40,000 0
O2soltigl 40,000
BEFniNIAASE 3,364,000 3,364,000 0
308 XX S M SO0l & 3,364,000 3,364,000 0
01 AXHNBNMNEXZ 3,364,000 3,364,000 0
[EE=E=IMESEEE= N 3,280,000
OHHOIEENANIASEE A 84,000
SOISEXNJYLEHE L3 315,000 275,000 40,000
307 212t0| & 315,000 275,000 40,000
11 A SEXNAEE X 315,000 275,000 40,000
O=0ISENSJHMHEZ )SHS2A 170,000
OB EsSxsEdoz )X 65,000
Doz )X 80,000
FAE2 43 94,670,170 104,945,570 N~ 10,275,400
308 XtXI &+ & S0 & 94,670,170 104,945,570 A~ 10,275,400
01 AIXHMBAEXZ 94,670,170 104,945,570 N~ 10,275,400
O2F0ts2tA Bl 2,400,000
O0el ol & X&e X 98,400
O2=0ts &0 =D& & H| 5,000
OUS2stHel ol & g9l 144,000




AT I SN OHERE
B BR0SAASA
& ESMHAXH (&)
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OHOMOtsHEI Ol EYAZS SR 19,200
O olE&Z Ml K& 200,000
CIZOHOFM S 01 & Ol & Il Arel 24 H) 75,000
Oog ol et™ B A sl bl 54,750
O5cltd 91,235,160
DEh=Es= 325,260
OES0tsdd=EH X2 113,400
S3E0e0E 5,613,846 4,466,838 1,147,008
= 4,490,000
S 1,123,846
308 XX EH SOl A 5,613,846 4,466,838 1,147,008
= 4,490,000
< 1,123,846
01 HXNHHNBHNEES 5,613,846 4,466,838 1,147,008
OS38080&EX& 5,613,846
= 4,490,000
< 1,123,846
FIRRLHEH2YE 75,140 79,040 A 3,900
= 57,800
< 17,340
308 XXM SOIA 75,140 79,040 A 3,900
= 57,800
< 17,340
01 XML EES 75,140 79,040 A 3,900
ORZILIHEH2SEXNE 75,140
= 57,800
< 17,340
NAXGSEESAMS (HE) 32,600 0 32,600
= 16,300
< 16,300
307 gl2tol & 32,600 0 32,600
= 16,300
< 16,300
10 ALl SXNAIEEE2EHEX 32,600 0 32,600
OAMAIISEESAS N2 32,600
= 16,300
< 16,300
NAXSEHESAS (XH) 538,350 538,283 67
= 422,892
= 115,458
308 XXM SO A 538,350 538,283 67
= 422,892
< 115,458
01 IXNHHBHNEES 538,350 538,283 67
OAMZXNSEESAE 538,350




M ox
40 5 4

CEEBIEF-E 2 A
ER0SHAST
FRAHIAT &

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
= 422,892
< 115,458
HelolgelrEx & 2,555,207 0 2,555,207
308 AHAIEHHSOIA 2,555,207 0 2,555,207
01 HXNHHBHELS 2,555,207 0 2,555,207
ool #==<0I1 XA 2,555,207
golEedis 2,036,420 1,214,570 821,850
= 1,031,092
=) 1,005,328
oeodes 882,820 483,600 399,220
= 679,092
< 203,728
403 XSS A=0l& 882,820 483,600 399,220
= 679,092
S 203,728
01 XM A2EE 882,820 483,600 399,220
OogoldesArd 882,820
= 679,092
< 203,728
e oldeadio 438,100 604,270 A 166,170
= 337,000
< 101,100
403 XIS E X201 E 438,100 604,270 A 166,170
= 337,000
< 101,100
01 X SHHAN2E = 438,100 604,270 A 166,170
gogoldetdie 438,100
= 337,000
< 101,100
ZOHOtAIZ & 19,500 24,700 A5,200
= 15,000
< 4,500
403 MHXSHHSA=0l& 19,500 24,700 25,200
= 15,000
< 4,500
01 X ESHMA=2E L 19,500 24,700 A5,200
[CJZOHOtAI &AM 19,500
= 15,000
< 4,500
2E2=J|s23 696,000 102,000 594,000
308 XXM SO0 A 396,000 102,000 294,000
01 IXNHHBNEES 396,000 102,000 294,000
OFHGLEA22d 396,000
403 XIS S X201 & 300,000 0 300,000




M ox
40 5 4

VEEBIE =M
FEOSAASH
012101 % &2 M &

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
01 HXSHMA2E X 300,000 0 300,000
FHAEMZEX 120,000
DERO0ISE=0AIE4X 180,000
AHEsSHdEES 96,885,523 34,648,624 62,236,899
=2 72,338,837
J| 2,818,145
< 21,728,541
FAESLLSXE 2,210,946 2,005,040 205,906
2 61,355
J| 970,055
< 1,179,536
FHAHNEOMSHESH 974,940 718,938 256,002
307 21201 A 610,184 351,914 258,270
10 M2 SXNANEHE2IHEX 581,164 329,614 251,550
O EREXNLAEH2E 581,164
11T MISXASEEX 29,020 22,300 6,720
ONEAE XN EEHS A R =G 23,520
OgAEAE X 5,500
308 XX EHH SOl 364,756 367,024 A2,268
01 HIXNHHNBMNELS 364,756 367,024 A2,268
OFEAELEIE 174,600
OA8AHNE XA 1,800
OFAtAHSHSXE 92,956
ONMEAEESESZ0SAHEEHSAE 95,400
YA 58,200 58,200 0
307 21201 A 42,000 42,000 0
06 2= 42,000 42,000 0
Jggotsaot2d =22 42,000
308 X EHHSOIA 16,200 16,200 0
01 HIXNHHNBHNELS 16,200 16,200 0
Ogaots=ot=id 16,200
QA0S IHEXN A 1,094,776 1,141,175 A 46,399
J| 970,055
< 124,721
308 XXM SOl A 1,094,776 1,141,175 A 46,399
J| 970,055
< 124,721
01 AXHHBLEES 1,094,776 1,141,175 A 46,399
DgdotsHEsXE 1,094,776
J| 970,055
< 124,721
IIEAE OIS HEEZ X 65,650 66,950 A 1,300




M ox
40 5 4

CEEPET-ETE =M
AW OISSHUES
I ES LY AR B

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
= 45,955
< 19,695
307 glz2tol & 65,650 66,950 A 1,300
= 45,955
< 19,695
06 283 65,650 66,950 A 1,300
OJIE/ eSSl 282X 65,650
= 45,955
< 19,695
AALINFRAE OIS HEXNZXA 17,380 19,777 A2,397
= 15,400
< 1,980
308 XtXIEHH SOl A 17,380 19,777 A2,397
= 15,400
< 1,980
01 X HHILEES 17,380 19,777 A2,397
AAINFAEOSHEXNZAEA 17,380
= 15,400
< 1,980
otsae - =2Xs8d 94,674,577 32,643,584 62,030,993
= 72,277,482
J| 1,848,090
< 20,549,005
ERS=AELHS}NE 350,000 300,000 50,000
307 21201 A 350,000 300,000 50,000
10 M2 SXNANEHE2IHEX 300,000 300,000 0
D222 X2 300,000
11T MISXASER 50,000 0 50,000
SN SEAMEIZHEANA2E X 50,000
OlsHEASILAHEEY 116,500 66,500 50,000
201 et 1,500 1,500 0
01 At 22l 1,500 1,500 0
O=2g=¢ 1,500
Otts=EXNaAAE2 =0 1,500
307 21201 A 25,000 25,000 0
11T MISAASEX 25,000 25,000 0
OZS0eol NS L ALME S 25,000
308 MtXIEHSOIH 40,000 40,000 0
01 HXNHHNBHELS 40,000 40,000 0
OO 0l & AL 40,000
403 X SHHSA=0l& 50,000 0 50,000
01 XM A2E X 50,000 0 50,000




M ox
40 5 4

AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2

Ooelol2=s0lHEdxS 50,000

Ols&tio e 2 98,232 24,960 73,272

308 X SHAMSOIA 98,232 24,960 73,272

01 HXHHNBIMNEXS 98,232 24,960 73,272
OXNYG0SESESI2SAIANE 26,040
OXNGEISESHE2I|229 X (HA) 72,192

AMEOISHESH 1,835,217 1,700,037 135, 180

307 QI2t0| & 140,000 138,000 2,000

10 Al SXAIEEE2IHIEX 55,000 55,000 0
O0I=EEsXNSANE2IXA 20,000
OCIsSMEXNFAMEHSI XA 35,000

11 AMISAAEE X 85,000 83,000 2,000
ESES0SAIZE2CILFHILHAIS 20,000
Od=AIE0tSHNSUI I & 18,000
OAN&EOtsSE0 =M 18,000
OO0tS=XIAIE S ARAH 20,000
OOSEXNANESMNERNE 9,000

308 AXISHAMSOIA 1,695,217 1,562,037 133, 180

01 HXHHNBIMNEXTZ 1,695,217 1,562,037 133, 180
OOISYSAIES2IYLAMLH X 1,413,172
OOotsS=XAIESAMN=Y 132,480
EA0ISAHEHEEZ 135,000
O 2H0sSYESANESS22 N 2,160
Odorssttis2 =g A HX&A 7,200
OSHIoHEEtH™erg X & 5,205

Z2A0s=2 AKX 7,808,307 8,712,351 AN 904,044

308 XX SHHSOIH 7,808,307 8,712,351 A 904,044

01 RXESHBARES 7,808,307 8,712,351 904,044
Oetstss A 1,198,368
Os=sESsLSA 6,324,720
OXNYG0otsSHdES2A X 285,219

RLESOHSsSIE=S2IXNA 346,702 344,572 2,130
J| 239,105
= 107,597

308 A XISHXSOoIH 346,702 344,572 2,130
J| 239,105
= 107,597

01 AXHNBMNEXTZ 346,702 344,572 2,130
OEsotsIsEed 346,702
Dl 239,105
== 107,597




AR HENEI MY SRR E-BIET-EE
N AFBOISRLULS
o9l OIS - ZXNBT (B9 ®R)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
StiHOloiOls a2 538,600 306,739 31,861
J| 371,448
& 167,152
308 AHAIEHHSOIA 538,600 306,739 231,861
J| 371,448
< 167,152
01 HIXNHHNBHELS 538,600 306,739 231,861
Osttimoiotsade=2Z 538,600
J| 371,448
< 167,152
OrsZE X3 AHEXA 1,242,557 787,630 454,927
= 1,101,000
< 141,557
308 XXM SO A 1,242,557 787,630 454,927
= 1,101,000
< 141,557
01 AXHHILEES 1,242,557 787,630 454,927
Oots2E X2 AZXA 1,242,557
= 1,101,000
< 141,557
OSSN DATAK 1,802,320 1,703,520 98,800
= 1,386,400
< 415,920
308 XXl S M SO0l & 1,802,320 1,703,520 98,800
= 1,386,400
= 415,920
01 HXNHHNBHEELS 1,802,320 1,703,520 98,800
JOotS =S Xl W AtIHA X & 1,802,320
= 1,386,400
=) 415,920
CYAEEANY 5,742,000 6,178,500 436,500
= 5,742,000
308 XX EHH SOl 5,742,000 6,178,500 A 436,500
= 5,742,000
01 HIXNHHNBMNEELS 5,742,000 6,178,500 A 436,500
OSEAEEMZ 5,742,000
= 5,742,000
OtsEXAEIIs2Z 109,472 444,280 A 334,808
J| 84,209
= 25,263
403 MtXISHHE X201 E 109,472 444,280 A 334,808
J| 84,209
< 25,263
01 IXISHHA=2E=x 109,472 444,280 A 334,808
Oors=XNAIEI)IsEZ 109,472




= - — SHE]|
22N I BI(EH) - HRAY - BES e bl D=2t

Jl 84,209
= 25,263

ANEotsHEH2G XA (KA 406,348 253 152,728

307 2Iztol ™ 112,600 12, 100,000

11T ALS S RAEE = 112,600 12, 100,000
OXY90otsdEOtS=ME0tE 3,600
O0tsZSEAMERTS 9,000
OXNSGOtsSHEHSESAMEES2 100,000

308 XXM SO0 A 263,748 241, 22,728

01 HIXNHHBNEES 263,748 241, 22,728
OXNGotsHE SAMREY 199,248
OXYotsd ALY XA 15,000
OXSG0tsSHEHSEZZO# X 49,500

403 MHXISHE X201 E 30,000 30,000

01 X SHHAN2E = 30,000 30,000
OSEEXNg0tsdHAS XA 30,000

ANAotsHEH2INA(EX) ,092,069 9,164,193 927,876
= 7,763,130
< 2,328,939

308 XX EHH SOl A 10,092,069 9,164,193 927,876
= 7,763,130
< 2,328,939

TRAXNEHEHEEXS 10,092,069 9,164,193 927,876
OXEotsHEH2E XA 10,092,069
= 7,763,130
< 2,328,939

NG 0otsdEHIIR 389,376 573,133 A 183,757
= 299,520
< 89,856

308 XXM SO0l A 389,376 573,133 A 183,757
= 299,520
< 89,856

01 IXNHHBNEES 389,376 573,133 A 183,757
Of=XIotsdlHX& 389,376
= 299,520
= 89,856

NEtsSHHES==SREXA 199,508 217,339 A 17,831
= 153,468
< 46,040

308 XtXIEHH SOl A 199,508 217,339 A 17,831
= 153,468
< 46,040

01 IXNHHBANEES 199,508 217,339 A 17,831
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22N I BI(EH) - HRAY - BES 0l &k 24 e bl D=2t

OXYotsHES==32dX& 199,508
2 153,468
< 46,040

NEOtsSdHERRIE XA 161,241 154,284 6,957
= 124,032
= 37,209

308 XHXI M SO0l & 161,241 154,284 6,957
= 124,032
< 37,209

01 IXNHHBANEES 161,241 154,284 6,957
OXNGsSHHERRE XA 161,241
= 124,032
< 37,209

X S0tS HE B2 X 2 53,644 37,600 16,044
= 26,822
< 26,822

307 21201 A 53,644 37,600 16,044
= 26,822
< 26,822

11T AL S XA E X 53,644 37,600 16,044
OXS OIS ME B2 S| 2 53,644
= 26,822
< 26,822

NGotsdBHANZKNH2I XA 175,000 175,000 0
= 87,500
= 87,500

307 glz2tol & 175,000 175,000 0
= 87,500
S 87,500

11T MISXASEX 175,000 175,000 0
OXEotsHEHAESXNRASt2E XA 175,000
= 87,500
< 87,500

IELEHSI|B2HX 1,499,326 1,499,326 0
J| 1,153,328
< 345,998

308 XXIEHHSOIA 1,499,326 1,499,326 0
J| 1,153,328
< 345,998

01 XML EES 1,499,326 1,499,326 0
OXNGtsE2Esd2I 223X & 1,499,326
Jl| 1,153,328
< 345,998

Ots+==&X& 61,204,337 0 61,204,337
= 55,147,187
< 6,057,150
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A HAEESOISSELES
Sl OISRY - BASE (B9 ®R)
= — — L=
AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
308 X EHSOIA 61,204,337 0 61,204,337
2 55,147,187
< 6,057,150
01 HIXNHHBHNEELES 61,204,337 0 61,204,337
Oots=g=0i= 61,204,337
= 55,147,187
< 6,057,150
OtEs=2HE7= 436,119 0 436,119
= 386,434
< 49,685
308 XXM SO A 436,119 0 436,119
= 386,434
< 49,685
01 AXHHBILEES 436,119 0 436,119
O0s=EME= 436,119
= 386,434
< 49,685
Ots==2HE2d 67,702 0 67,702
= 59,989
< 7,713
308 XtXIEHH SOl A 67,702 0 67,702
= 59,989
< 7,713
01 HXNHHNBHEELS 67,702 0 67,702
Oots=grNc2d 67,702
= 59,989
< 7,713
AMEFLESLHIES 26,810,784 15,103,823 11,706,961
2 527,200
Xl 14,808,000
J| 5,047,956
< 6,427,628
FAESHESNE 19,636,329 8,390,246 11,246,083
= 373,200
X 14,808,000
J| 1,334,142
< 3,120,987
ANZEALAESEHALEHE 12,770,000 2,740,000 10,030,000
X 12,770,000
403 UHXSHHS =0l & 12,770,000 2,740,000 10,030,000
Xl 12,770,000
01 HXSHMA=E X 12,770,000 2,740,000 10,030,000
OAMNZELAESBEAEHE (NS ZHI) 12,770,000
Xl 12,770,000
ANZELEGSHALNES 2,038,000 1,244,000 794,000
Xl 2,038,000
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NERNCP-BIEELE SN oA S
Ho: AMHAUSHULS
o9 HAUSHESHY (29l 8)
AR .24 B BAGEN) - NRANY - BES Ol &k o8 il HlnE2

OFA2EWERAE2E 15,000
OE3A2EHHNSHTNARYE 15,000

EEAUHESIELMHIA 626,333 618,500 7,833
= 187,900
< 438,433

307 21201 A 626,333 618,500 7,833
= 187,900
< 438,433

10 M3 SXNANEHEISIHEX 626,333 618,500 7,833
OEEAEESIELMHI A 626,333
= 187,900
< 438,433

N2EAESRAILEAET T AKX 251,094 244,800 6.294
| 251,094

308 XXM SO0IA 251,094 244,800 6,294
| 251,094

01 IXNHHBNEES 251,094 244,800 6,294
OANZELAEEAILdEAE X S AIXI X 251,094
J| 251,094

HAESPAEIZIBR2AN 4,000 4,000 0
| 4,000

308 XXIEHHSOIA 4,000 4,000 0
| 4,000

01 AXNSHHEBANEES 4,000 4,000 0
OANZEALAESSANEEZZNSE2I XA 4,000
| 4,000

HAEFONXE(E) 10,000 10,000 0
J| 5,000
< 5,000

307 21201 A 10,000 10,000 0
J| 5,000
= 5,000

11 ALS S XAEE = 10,000 10,000 0
O30 A¥S =2 10,000
| 5,000
< 5,000

HAEFOIXA(AR) 49,100 49,100 0
| 45,200
< 3,900

308 XXM S0 A 49,100 49,100 0
| 45,200
< 3,900

01 IXNHHBNEES 49,100 49,100 0
OAZEWRE =2 32,200
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o9 HAUSHESH S (B9 ®R)
- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Ei HR=2
Pl 32,200
OAUANESIE/AJS X H 16,900
J| 13,000
o= 3,900
HAUEESOoI2l 2= 80,000 80,000 0
= 80,000
308 XHXIGHH SO0l & 80,000 80,000 0
= 80,000
01 IXHHIMNEXS 80,000 80,000 0
OF3AE SO0l X & 80,000
= 80,000
HAEUHSHOE XS 126,300 82,300 44,000
= 105,300
o 21,000
308 XX SHHSOIA 126,300 82,300 44,000
= 105,300
o= 21,000
01 AIXSHMENEXZ 126,300 82,300 44,000
OEHEAENHSE0IE X 49,000
= 28,000
= 21,000
OAZEAEHSEHOIEXH 77,300
= 77,300
HAESNZOIM0I&E K& 1,337,502 1,327,386 10,116
J| 1,028,848
= 308,654
308 AMXISHMSOIA 1,337,502 1,327,386 10,116
J| 1,028,848
= 308,654
01 IXHHIMNEEXTZ 1,337,502 1,327,386 10,116
OAESLNSOIIH 02 A 1,337,502
J| 1,028,848
& 308,654
HAEECIAINMEZZ 1 S2H 15,000 15,000 0
308 XX EHSOIA 15,000 15,000 0
01 AIXSHMENEX= 15,000 15,000 0
O AEEOIAIMEZ )HRH 15,000
HAVSHHMPY 30,000 30,000 0
307 2izto| A 30,000 30,000 0
11 AFSI = RAY 2 & 30,000 30,000 0
OAUEHAAXNR IS 9,000
OAE XS AHLES 18,000
SEFEEL LT S TSI E-YIPEinE 3,000
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M ox
40 5 4

VEEBIE SN OEIIES
AFPALESHALS
EPNEEEE S

- _ _ RE]
AT SN BH O (3H) - MEAY - BES Ofl At o4 %Eﬁ HR=2
| Pl 79,800
FAESQMHSEZASH2I XK (XHAN) 26,000 26,000 0
307 2Iz2t0| & 26,000 26,000 0
11 A EXAIEEX 26,000 26,000 0
OJEdAERNSIZAHNH2ASEXA 26,000
HAE=SIXA 4,907,717 4 554,255 353,462
= 132,000
J| 3,337,878
& 1,437,839
H&ERStW XS 65,500 58,500 7,000
308 XX G SOl A 65,500 58,500 7,000
01 AIXSHHEMNEX= 65,500 58,500 7,000
OHE RS D2AH XS 65,500
AU 14,800 19,000 A4 ,200
307 QI2t0| & 6,400 6,400 0
11T A EXAIEEX 6,400 6,400 0
OJHASEAEGHAH LSS 6,400
308 XX SHHSOIH 8,400 12,600 N4 ,200
01 AIXSHMENMNEXZ 8,400 12,600 N4 ,200
O3AEZE2S2AX S 8,400
CEAEZAHSYE 46,000 22,200 23,800
307 2Iz2t0| & 46,000 22,200 23,800
11T A EXAIEEX 46,000 22,200 23,800
O AEHEAHOAZEXH 36,000
OEgEAENEZIETZ)SHSH 10,000
HAUEAHSAMAEZEIA 21,504 19,712 1,792
307 2I2t0| ™ 15,120 13,860 1,260
11 A EXAIEEX 15,120 13,860 1,260
O AEHEAHSANEE 15,120
308 XX G SOl A 6,384 5,852 532
01 AIXSHHEMNEX= 6,384 5,852 532
OANZEAEUEHSAIANSE 6,384
HAUSSXNEMARE () 383,000 378,200 4,800
J| 191,500
= 191,500
307 QI2t0| & 383,000 378,200 4,800
J| 191,500
& 191,500
11T A EXAIEEX 383,000 378,200 4,800
OEHAEESXNIMARS 383,000
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40 5 4

AR .24 BB OEH) - NEAY - BAS 0 Ak o8 ﬁlf& HDS2

Jl 191,500
== 191,500

SENZHEAASIIMHSE(Z) 52,772 51,384 1,388
Dl 26,386
= 26,386

307 QI2t0| & 52,772 51,384 1,388
Jl 26,386
= 26,386

11 AMIASXAEE X 52,772 51,384 1,388
OSSN ZHAAASANREEHSA 52,772
Dl 26,386
& 26,386

M7TAASKNJIHEHS S 116,628 107,408 9,220
Dl 58,314
& 58,314

307 QI2t01 ™ 116,628 107,408 9,220
Jl 58,314
& 58,314

11 A SAAEE X 116,628 107,408 9,220
OE17}ASXNANEHSS 116,628
J| 58,314
= 58,314

HAEUSSXNIMARE(A2) 923,000 901,000 22,000
J| 923,000

308 XX S M SO0l & 923,000 901,000 22,000
Jl 923,000

01 AXHNBNMNEXZ 923,000 901,000 22,000
OANZHAESEXNJMA TS 923,000
Dl 923,000

SFNEZHJAASANRJLAME 2L (AIZ) 13,192 12,846 346
Dl 13,192

308 XtXI &t X S0 & 13,192 12,846 346
Jl 13,192

01 HXHNBMNEXTZ 13,192 12,846 346
OANRSNZHAASNAMEH S 13,192
Dl 13,192

HAGSEANZZ2 )HSIAEH 910,392 820,114 90,278
Dl 455,196
& 455,196

307 QI2t01 ™ 910,392 820,114 90,278
Jl 455,196
& 455,196

11 A SAAEE X 910,392 820,114 90,278
OF3AESEIANEZZ JHSIAH 910,392
Dl 455,196
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